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fdd= AT H Rs. 525 &1 AL Rs. 700 &l S0,
i SATST B I A Bl ?

A.2dy

B.3dY

C.4dY

D.5dy

Answer: C

O A&



https://dl.doubtnut.com/l/_h1PXxJzMGE9H
https://dl.doubtnut.com/l/_qQp1RlQxE1jH

7. 6 9f0ed] U 1Y doldl & dAT 39 dol1 Pl
3TARTA SPHSE 2,4,6,8,10 dAT 12 ABUE g1 1902 H, 9
gfoedT U1 fhd-l IR g1 ?

A. 16

B.32

C. 21

D. 31

Answer: D

O S &



https://dl.doubtnut.com/l/_qQp1RlQxE1jH

3
8.3 Ca =2+ ,3¢dd (a—%) &1 A 31d
HIfsIv]

A. 28./3
B. 244/3
C.26+/3
D.22+/3

Answer: B

(s ESHCE



https://dl.doubtnut.com/l/_170pOcQmzdgX
https://dl.doubtnut.com/l/_5DTlCzCPrXVi

9.3f¢ secl + tanh = p & a9 cos f RN & -

Answer: C

ommaﬁ



https://dl.doubtnut.com/l/_5DTlCzCPrXVi

10. AT OXY Tt #H faq (x,y) faig3ii (-1,1) 421 (4,3) &

TR ¢, a9 -

A 10z + 4y = 23

B.6x + 4y = 23

C—x+y=7

D.4x +3y =0
Answer: A

O da &



https://dl.doubtnut.com/l/_CtQKlcJi7tut
https://dl.doubtnut.com/l/_b0SUr58qKlVM

11.17¢ 3logg = 2 € Ad x &1 | &P -

A 4
B.8
C.3

D. 10

Answer: A

O A&



https://dl.doubtnut.com/l/_b0SUr58qKlVM

12. fRgfafRaa J&ol &1 d¢d &H § Jaf>dd fean
ST ¢ Ife 2 Yeqont B AIfSAPBT 63 8, dd x BT A
SITd HIfSTU|
29,32,48,50,x,x+2,72,78,84,95

A. 26
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cos 18 — sin18

A.tan 18°
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C. 120 faqe
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